Spare Farts

Model No.WV/NT/SIV HEAD ASSEMBLIES
Numatie, International, Chard, Somerset, TA20 2GB. | 231491
Tel: 01460 68480 Fax: 01460 68560 DRAWING:EXP246  ISS:A05
Sales — Tel: 01460 68600 Fax: 01460 68458 18/10/99

® ® RO

© EQEOELERO

®
®
g
® @
@
®
®
©
B )
©
®
@
@
@
® ®
®
% ®

® ®

®

MODEL No. WV/NT/SIV HEAD ASSEMBLIES

SPARE PARTS

POS. | PART No DESCRIPTION POS. | PART No DESCRIPTION
1 | 219107 | No6 x 5/8" Plastite Screw 23 | 320286 | 240mm Long White Motor Link Wire (110/120V)
2 | 220238 | Switch Boot 24
3 | 220286 | Red Rocker Switch 25
4 | 206213 | Handle Cover 26 | 219566 | M4 x 6mm Long Taptite Sems Screw
5 | 320183 | 200mm Long x 1.0mm Thick Blue Link Wire 27 | 220682 | Suppressor (110/120V)
6 | 320003 | 200mm Long x 1.0mm Thick Brown Link Wire 28 | 202005 | Bottom Motor Gasket
7 | 320093 | 400mm Long Green/Yellow Link Wire (230V) 29 [ 206010 | Fan Guard
320378 | 380mm Long Green/Yellow Link Wire (110/120V) 30 | 301047 | Bottom Motor Housing
8 | 219546 | M5x 20mm Long Pozi Pan Sems Screw 31 [ 219369 | NoB x 1" Plastite 2.50 Screw
9 | 320291 | Handle Body Moulding 32 | 220131 | Cable Clamp
10 | 227043 | Cover Moulding (No Numatic Logo) 33 [ 219090 | M4 x 8mm Long Sems Screw
11 | 210085 | Red Numatic Logo 34 | 220232 | Mains Cable (U.K. Plug)
210049 | Blue Numatic Logo 220059 | Mains Cable (No Plug)
210412 | Green Numatic Logo 220253 | Mains Cable (C.E.E. Plug)
210039 | Yellow Numatic Logo 220222 | Mains Cable (Swiss Plug)
12 | 220288 | 30mm Diameter White P—Clip (230V~ Machines) 220839 | Mains Cable (C.S.A. Plug)
13 | 320198 | 230V Suppressor 299039 | Mains Cable (Australian Plug)
14 [ 219003 | M5 Form A Steel Washer 220468 | Mains Cable (15Amp Plug: South Africa)
15 | 219076 | M5 Staytite Nylon Insert Nut 35 | 220132 | Stress Relief
16 | 202012 | Gasket 220541 | Stress Relief (C.S.A. Plug Machine)
17 | 220331 | 270mm Long Blue Link Wire (110/120V) 36 | 225153 | Air Separator
18 | 219491 [ M3 x 5mm Long Taptite Screw 37 | 320286 | 240mm Long White Motor Link Wire
19 | 220532 | Thermostat 38 | 320092 | 180mm Long Green/Yellow Link Wire
220579 | Thermostat (C.S.A. Spec Machines) 39 | 219471 | M4 x 12mm Long Sems Screw
20 [ 219370 | No8 x 5/8" Plastite Screw 40 | 205060 | 230V~ Motor
21 | 225062 | Top Motor Housing 205062 | 110/120V~ Motor
22 | 202003 | Top Motor Gasket




